110 #2588 B AR R Feg i P 2% o5 b 7 ey e SR8 B = e ol 2 £ 9

W

XIE / BEH

TR R SRS TR A KR BB » FERIH G 25 B A
EREEE R T 2SR ERN - HEERABER KM E REF
BfRt R R L TR - (TR REZ B GEFINEEER
18 ROKREHERD AL - A (110) 05 H B BOKFEHERE At 26 (1
auiE o EEEMASE 18 EEN THAESE (R ) RIEEER
S HEMRIT - KEER - RRER BIFNTEEFR T &
FoKTe i - (R REEREEREE - WS TR R =R
JEIR AL ) TR o AR R EOKRE AR o SRR
BB 8 RAVREREERE - e A KA E -

BRIV R TE AR 48 N > 89 FEFT Ay T2
W BRI A AN ) AR B D R = (ESE R (8 1) = 0 hl R
R (B REARE ) - FEHRFEE (BRTBURRTEE
EHRLREBERRE) M hlF] € HERE R EAmERE (£2
3) MEXGZHEENREIASEE - ARSI HERE Rk E

= 1.110 FERGAE 2B FRoKEHEELE

AR AR E A ~ BFR R AMYFRETWE - #RERM
TR ARV ELRRE - SRS TR o B B A E A i DU AR
BEFAGZERKEHREGESE > ZB R = R EIEH
B BREANEEE R > fEEREET K > BUNHER
[ PR B SRR E B 8 2

=alpR BhBREREEEPO
MRS BRER

RS | —> FaE —> FaE | — T

I

BEras

I I I

A7KTE RAEEETE =R i AR

3R 2. 7K R SETE = A i B 2 H I A e

BAME $E 5 B fE A A e B
1 B 2 5B 10 B 16 57 5 5 e HE 4 i
2 B 8 B 11 T 139 B [ fE HH HE i i
3 B 9 5 12 e 145 BF P H i3 < 1FR/0.1 AEH < 10 Bk /0.1 ZAEH
4 B 14 58 13 I 146 57 7< 3. KT RAEBTE — iRl 2 E At
5 & 16 B 14 S 147 5 FERI MR T (%) EEGHY (%) B R HEET
6 Bk 3 9% 15 B 30 8% S 99.7 <03 e e
7 L1271 5% 16 B 33 97 i 99.0 <1 G gl
8 £ 192 5% 17 =) I A o S 90 <1 S20B/BT <SHE/DT
9 AR 1158 18 Sehfl 10 55 K& (%) =13
T & HEFE (%) = 85
1 =1 WEE 5 5 AR 2 5 -
> LR 1 9% 6 bl 178 B I;gg >
3 B RERE 3 5% 7 e BRI 7 57 FlFS 520
4 B 31 57 8 HFEAl 18 57



